5.

Ryan bought a pair of shorts on clearance for $15.75.
[f the shorts were 30% off, what was the original
price of the shorts?

. $4.73

. $6.75

320.48

. $22.50

. $52.50

12.

What is the 209th digit after the decimal point in the
repeating decimal 0.762347
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6. Stephanie was s years old S years ago. How old wi
she be 4 years from now?
F. s+4
G. 5(s+4)
H. s+9
J. s—1
K.

s+ 1

14. The area of a trapezoid is found by using the
) 1
equation w\A\: +b3), where /i is the height and b,

and b, are the lengths of the bases. What is the arca
of the trapezoid shown below?
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14. The area of a trapezoid is found by using the
i . .
cquation w\;.\: +b,), where /1 is the height and b,

and b5 are the lengths of the bases. What is the arca
of the trapezoid shown below?
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